
1) 7 2, 0 5 1

5 6, 3 9 5–

6 5, 2 7 3

3 1, 5 8 6–

4)

6 8, 1 0 9

4 9, 4 2 6–

7)

3 5, 1 8 2

1 2, 0 6 1–

2)

5 0, 0 3 8

2 4, 0 5 3–

8)

9 1, 6 3 8

4 1, 5 0 4 –

3)

8 0, 9 5 2

7 4, 5 1 3–

6)

4 8, 5 9 2

1 6, 1 3 1–

9)
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There were 87,451 spectators watching a game of soccer in the !rst half. The 

number increased to 90,548 in the second half. How many more people 

watched the game in the second half?

A top university received 61,221 applications. If the institution accepted 22,947

students, how many students were rejected? 

2 4, 8 3 9

1 4, 3 1 5–

5)

S2

10)

11)

UNIVERSITY
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